G, Garden Point

Patio and outdoor

GAP1010

e PL: Metalowaaltana Sardynia 3x3
e ENG: MetalGazebo Sardinia 3x3
* RO: Foisormetalic Sardinia 3x3
¢ CZ: Kovovaaltan Sardinia 3x3
e DE: Metall-Gazebo Sardinia 3x3
e HU: Fém kertipavilon Sardinia 3x3
e BG: MetaneH naBuanoH Sardinia 3x3
e FR: Abri métallique Sardinia 3x3
e IT: Gazebo metallico Sardinia 3x3
e ES: Pérgola metalica Sardinia 3x3
e SK: Kovova altan Sardinia 3x3
e LT: Metalinis pavésinis Sardinia 3x3
e NL: Metalen Tuinhuis Sardinia 3x3
e UA: MeTtaneBuit HaBic Sardinia 3x3
e SE: Metallgazebo Sardinia 3x3
¢ HR: Metalnasjenica Sardinia 3x3
e LV: Metalanojume Sardinia 3x3
e Sl: Kovinskalopa Sardinia 3x3

Manufacturer:
GardenWaysp. z o0.0.
ul. Stepinska 22/30
00-739, Warsaw
Poland

PL|ENG|RO|CZ|DE|HU|BG|FR|IT|ES|SK|LT|NL|UA[SE|HR]LV]SI




PL: Przed przystgpieniem do montazu sprawdz kompletnosé wszystkich czesci na
podstawie podanej listy. Nie montuj w przypadku brakow.

ENG: Before starting assembly, check the completeness of all parts based on the

provided list. Do not assemble if there are any missing parts.
RO: Tnainte de a incepe asamblarea, verificd completitudinea tuturor pieselor pe
baza listei furnizate. Nu asambla daca lipsesc piese.

CZ: Pred zahajenim montdZe zkontrolujte Uplnost vSech dilll podle uvedeného

seznamu. V pripadé chybégjicich ¢asti nemontuijte.
DE: Uberpriifen Sie vor Beginn der Montage die Vollstindigkeit aller Teile
anhand der beigefligten Liste. Montieren Sie nicht, wenn Teile fehlen.

HU: Az 6sszeszerelés megkezdése el6tt ellenbrizze az 6sszes alkatrész
hianytalansagat a mellékelt lista alapjan. Ne szerelje 6ssze, ha hianyzik barmely
alkatrész.

BG: lMpean Aa 3ano4yHeTe MOHTAXKa, NpoBepeTe NbAHOTAaTa Ha BCUYKM YacCTU
cnopes NnpeAoCcTaBeHUa CNUCbK. He MOHTUpanTe, ako IMNCBAT YacTu.

FR: Avant de commencer le montage, vérifiez I'intégralité de toutes les pieces en
fonction de la liste fournie. Ne montez pas en cas de pieces manquantes.

IT: Prima di iniziare il montaggio, controlla la completezza di tutte le parti in base
alla lista fornita. Non montare in caso di pezzi mancanti.

ES: Antes de comenzar el montaje, verifica la integridad de todas las piezas
segun la lista proporcionada. No montes si hay piezas faltantes.

SK: Pred zacatim montaze skontrolujte Uplnost vSetkych casti podla uvedeného
zoznamu. Nemontujte, ak chybaju diely.

LT: PrieS pradédami surinkimg, patikrinkite, ar visos dalys yra pagal pateiktg
sgrasa. Nesurinkite, jei traksta daliy.

NL: Controleer voor het beginnen met monteren of alle onderdelen compleet
zijn volgens de opgegeven lijst. Monteer niet als er onderdelen ontbreken.
UA: lNepea noyaTKOM CKNaAaHHA NepeBipTe KOMNAEKTHICTb YCiX AeTanen 3a
HagaHUM cnnuckom. He 36upaiTe, AKWO € BiACYyTHI geTani.

SE: Innan du pabdrjar monteringen, kontrollera att alla delar finns enligt den
medfdljande listan. Montera inte om delar saknas.

HR: Prije poCetka montaze provjerite potpunost svih dijelova prema prilozenom
popisu. Nemojte montirati ako nedostaju dijelovi.

LV: Pirms montazas uzsakSanas parbaudiet visu detalu pilnibu saskana ar
noradito sarakstu. Nemontéjiet, ja trukst detalu.

SI: Pred zacetkom montaze preverite popolnost vseh delov na podlagi
priloZzenega seznama. Ne montirajte, Ce so deli manjkajodi.




3X3 ASSEMBLY INSTRUCTIONS




A e 4PCS Q@ ] 4PCS
B ' ; 4PCS | R b 96PCS
B1 i / 4pcs | T e 4PCS
D .pcs| |V < 60PCS
= 4pPCs| |V M6*12  152pCs
4pCS. (W M6*25  |40PCS
G 4PCS | X M6*a8  20PCS
Gl 4PCS X1 4PCS
J 4PCS |y 32PCS
K PC 7 > 16PCS
Ki @ 1PC| 77 @ 1PC
L =) 4PCS| 72 =—— | 1PC
LT == 4PCS | 73 D 52PCS
L2 —_— 4PCS | Z — 12PCS
M > 4PCS
N 4PCS H @/} 4PCS
NT 4PCS | Q 4PCS
O 4PCS 12PCS
P i 4PCS




4PCS

4PCS

4PCS

il s
LI







STEP 01

A x4PCS

J x4PCS

=
M6*12
V x 12PCS

STEP 02

|

B x4PCS

B1 x 4PCS

X1 x 4PCS

%12

V x 24PC8




STEP 03

)
Y x 32PCS

STEP 04

W
L2 x 4PCS

=
M6*12

V x 56PCS




STEP 05

D x4PCS

K x1PC

M6*12

V x 12PCS

STEP 06

E x4PCS

e
0x 4PCS

C=

M6*12

¥ x 16PCS




STEP 07

K1 x 1PC
&
I1x 1PC

STEP 08




STEP 09

ﬂﬂ]ﬂ

8) x4PCS

|

(9) x4PCS

STEP 10

Al

(6) x4PCS

N
U x 48PCS

l

(7) x4PCS

M6*25

¥ x 32PCS

I

(10) x 4PCS

M6*48

Xx 16PCS

h

1) x4PCS

73 x 48PCS

STEP10-2 -

8



STEP 11

G x 4PCS

STEP 12







‘l{ogrodosfera = GardenWay

OBStUGA KLIENTA

Ogrodosfera.pl

Stepiriska 22/30, 00-739,
Warszawa

Kontakt tel. +48 22 349 93 36
Poniedziatek — Pigtek 08:00 — 18:00
Email: sklep@ogrodosfera.pl

CUSTOMER SERVICE
Ogrodosfera.pl!

Stepiniska 22/30, 00-739
Warsaw, Poland

Email: sklep@ogrodosfera.pl

SERVICIUL CLIENTI

Gardenway.ro

Stepiniska 22/30, 00-739
Varsovia, Polonia

Email: info@gardenway.ro

ZAKAZNICKY SERVIS
Gardenway.cz

Stepiriska 22/30, 00-739,
Varsava, Polsko

Email: info@gardenway.cz

KUNDENBETREUUNG
Gardenway.de

Stepiniska 22/30, 00-739,
Warschau, Polen

Email: info@gardenway.de

UGYFELSZOLGALAT
Gardenway.hu

Stepiriska 22/30, 00-739,
Varsd, Lengyelorszdg
Email: info@gradenway.hu

OBC/TYXKBAHE HA K/IMEHTU
Gardenway.bg

Stepiriska 22/30, 00-739,
Bapwasa, lNoawa

Email: info@gardenway.bg

SERVICE CLIENTELE
Gardenway.fr

Stepiniska 22/30, 00-739,
Varsovie, Pologne

Email: info@gardenway.fr

SERVIZIO CLIENTI
Gardenway.it

Stepiriska 22/30, 00-739,
Varsavia, Polonia

Email: info@gardenway.it

ATENCION AL CLIENTE
Gardenway.es

Stepiriska 22/30, 00-739,
Varsovia, Polonia

Email: info@gardenway.es

SLUZBY ZAKAZNIKOM
Gardenway.sk

Stepinska 22/30, 00-739,
Varsava, Polsko

Email: info@gardenway.sk

KLIENTY APTARNAVIMAS
Gardenway.lt

Stepiniska 22/30, 00-739,
Varsuva, Lenkija

Email: info@gardenway.lt

KLANTENSERVICE
Gardenway.nl

Stepiriska 22/30, 00-739,
Warschau, Polen

Email: info@gardenway.nl

OBC/1YTOBYBAHHA K/1IEHTIB
Gardenway.ua

Stepiriska 22/30, 00-739,
Bapwasa, Nonvwa

Email: info@gardenway.ua

KUNDSERVICE

Gardenway.se

Stepiriska 22/30, 00-739,
Warszawa, Polen

Email: info@gardenway.se

KORISNICKA PODRSKA

Gardenway.hr

Stepiriska 22/30, 00-739,
Varsava, Poljska

Email: info@gardenway.hr

KLIENTU APKALPOSANA
Gardenway.lv

Stepiriska 22/30, 00-739,
Varsava, Polija

Email: info@gardenway.lv

PODPORA STRANKAM
Gardenway.si

Stepiriska 22/30, 00-739,
Varsava, Poljska

Email: info@gardenway.si



mailto:sklep@ogrodosfera.pl
mailto:sklep@ogrodosfera.pl
mailto:sklep@ogrodosfera.pl
mailto:sklep@ogrodosfera.pl
mailto:sklep@ogrodosfera.pl
mailto:sklep@ogrodosfera.pl
mailto:info@gardenway.ro
mailto:info@gardenway.ro
mailto:info@gardenway.ro
mailto:info@gardenway.cz
mailto:info@gardenway.cz
mailto:info@gardenway.cz
mailto:info@gardenway.de
mailto:info@gardenway.de
mailto:info@gardenway.de
mailto:info@gradenway.hu
mailto:info@gradenway.hu
mailto:info@gradenway.hu
mailto:info@gardenway.bg
mailto:info@gardenway.bg
mailto:info@gardenway.bg
mailto:info@gardenway.fr
mailto:info@gardenway.fr
mailto:info@gardenway.fr
mailto:info@gardenway.it
mailto:info@gardenway.it
mailto:info@gardenway.it
mailto:info@gardenway.es
mailto:info@gardenway.es
mailto:info@gardenway.es
mailto:info@gardenway.sk
mailto:info@gardenway.sk
mailto:info@gardenway.sk
mailto:info@gardenway.lt
mailto:info@gardenway.lt
mailto:info@gardenway.lt
mailto:info@gardenway.nl
mailto:info@gardenway.nl
mailto:info@gardenway.nl
mailto:info@gardenway.ua
mailto:info@gardenway.ua
mailto:info@gardenway.ua
mailto:info@gardenway.se
mailto:info@gardenway.se
mailto:info@gardenway.se
mailto:info@gardenway.se
mailto:info@gardenway.hr
mailto:info@gardenway.hr
mailto:info@gardenway.hr
mailto:info@gardenway.lv
mailto:info@gardenway.lv
mailto:info@gardenway.lv
mailto:info@gardenway.si
mailto:info@gardenway.si
mailto:info@gardenway.si

